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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [["1", "lopt’], ['T", "Topt'], ['RH', 'RHopt'], ['ETcl’, 'optETcl'], 'LAI’,
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [[’ FVOPH:
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Trend plot forG3-3 0
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T
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44 -
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T
400

T
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660 7(I)0
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T
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40 -

39 -

——

M_W

615

620

625




hour

’%,\

>

L e

N
“%
%

o
-

5

]

§_

%

100

80

- 60

- 40



G3-3

BfiE) | EBAK ) | EHE (EHR/HK) | ERERE (/R | XK SRR

06:45 92 70.0 15.12 FE| 1Ri%e06:45 Bz (FREAERESE)
07:30 92 70.0 15.12 FA| 1BRi&@07:30 B3 (KRAFEREE)
08:25 92 70.0 15.12 FA| {Ri%@08:25 Bz (kAMEEE)
09:20 92 70.0 15.12 FA| 1BRi%@09:20 B3zh (KAIEREEE)
10:15 92 70.0 15.12 FA| 1B2i%@10:15 Bzh (RA{EREEE)
10:55 92 70.0 15.12 FA| {Ri%@10:55 Bz (CGRAEEE)
11:30 92 70.0 15.12 FA| 1BRi%@11:30 B3h (KRAHERESE)
12:05 92 70.0 15.12 FA| 1B2i%@12:05 Bzh (kA{EREE)
12:40 92 70.0 15.12 PR 1Ri&@12:40 B3 (RS
13:15 92 70.0 15.12 FH| {Ri&e13:15 Bz (RAHERESE)
13:55 92 70.0 15.12 FH| {Ri&@13:55 Bz (RAEESE)
14:50 92 70.0 15.12 FA| 1BRi%@14:50 B3h (RABERSE)
15:45 92 70.0 15.12 FA| 1BRi%@15:45 B3h (RAHERSE)
16:50 92 70.0 15.12 FH| 1Ri&@16:50 Bz (RAEERSE)
H2it]1288.0 (14)%) 980.0 3EGHKEC: 2100.0, PH: 6.5

EREBRIE LT (0.56 vs 0.63), FAIEER % MAEENEFEEEIKERE

LOREBIRTC R IR R E Y (123 vs 108.0))

ZRIASERRIERES0. 0 ml.
FERERPH (10.36) 5i8%EPH (6.5) RERK, 5K/TE
BEXEBIPH (10.36) 5FMPH (6.5) REK K, HRE
[E;%EC 3780.0 K&, EiFHKECAE&imitER
#[EKECE (2067.0 vs 3780.0) 35
LRGEBIPH (10.4) 5i8FE (6.5) RERKK, BFRE.
LORGEBIPH (10.4) S5#BVEN (6.5) RERK, BRE.




G3-3_0, Day=18 (2025-05-30)

604 VI.VO,FRV,ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1100 1011‘80
20—1000?
40 4+ 135 695 °
£
b4 - 500 >
20 A &
4 Warning: lcol [FVI',| "FVO’'] missing 133
100 3 0
_ ( mm vl
DR I S S
o
2 50 -
E
> 25-
L
1.0
0. 8 A
0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
2908 3 A
TargetEC=1800. 0, | TargetSetEC=2100. 0
1 e B SRS SO LR e —
2000 - )(—)(—)(—‘—)(—)(—)(—)(—)(—)(—)(—)(—)(—)(—‘
° e O °e Y °
1900 1 —¢—  ECB*10% ® o
[ ] ECC
1800
e o © o o oo oo o .
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\ I ~—
E i =
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€ 150 1500 %
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é 100 - - 1000 E
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~ 50 - /'I\./| I L 500 b=
i o 3
—t——f E—
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5100— | — e e o - 1000 £
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50 i - 900 £
(AN : S L o
_——=t——%
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0.6 -
0.4
0.2 A
0.0

—_— 4
[ ] | _obs
—@— PPFD obs

—— RH
80 -
o RH_obs
RHo_obs
60 -
40 -
3 1 4
p ® VP
2 -
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52.

52.

51.

51.

50.

50.

54.

53.

53.

52.

m=425, FV0=0
50 -
541 —@— ME —e— ME
52
48 -
50 -
48 - 46 -
46 -
14 44 -
T T T T T T T
400 600 800 1000 425 430 435
m=595,m FV0=0 m=645,m FV0=0
—e— ME —&— ME
52 527
51 51 4
50 - 50
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49 -
48 -
T T T 48 T T T
595 600 605 645 650 655
m=750,m FV0=0 m=795,m FV0=0
5 —8— ME | 52.5- —o— ME
0- 52.0 -
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5 -
51.0 -
0 4
50. 5 -
5 -
50. 0 -
0 -
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51 4
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48 1
47 4
46 -
T T T
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m=720,m FV0=0
—o— ME
52 4
51 4
50 4
T T T
720 725 730
m=855,m FV0=0
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53.5 -
53.0 -
52.5 -
52.0 -
51.5 -
855 860 865
m=1015n FVO0=0
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53. 50 -
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53. 00 -

1015 1020 1025
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600 800 1000

m=595,m FV0=0
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28 -
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—— MW
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30 -

—— MW

755 760
m=900,n FV0=0
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38 -
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35 A
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-o— MW

i
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m=425, FV0=0

30 A

28 A

26 -
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—— MW
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m=645,n FV0=0

34

32 -

30 A

28 A

—— MW

660 6%5
m=795,n FV0=0

35 A

34 -
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32 -

31

30 A

—o— MW

860 865
m=935,n FV0=0

795

39 A

38 A

37 A
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35 A

-— MW

935 940 945

m=480, FV0=0 m=530, FV0=0
36 4 —0— MW —— MW
34 -
34
2 - 32 4
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28 -
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26 -
T T T T T T
480 485 490 530 535 540
m=690,m FV0=0 m=720,m FV0=0
34 1 —o— MW 36 - —o— MW
32 34
30 32 1
0g - 30
T T T T T T
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m=825,m FV0=0 m=855,m FV0=0
—o— MW 38 —o— MW
36
37 1
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31 A T T T T T T
825 830 835 855 860 865
m=970,m FV0=0 m=1015m FVO0=0
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633 BT | CERATK () | Ble (/) | edas 5/ %) X E3
06:40 62 50.0 10.8 E BRi%e06:40 BE1 (GRAERE)
07:10 62 50. 0 10. 8 = RRiB007:10 Bz (REAKEE)
07:50 62 50. 0 10.8 E| {Rig@07:50 Bah (RE{ERE)
08:25 62 50.0 10.8 5| {Ri%e08:25 Bz (FAERSE)
08:55 62 50.0 10.8 5| {Ri&e08:55 Bz (KRFEAEES)
09:25 62 50.0 10.8 (=] 1BRi%@09:25 Bz (KBRS
09:55 62 50.0 10.8 (=] 1Ri%@09:55 Bz (KRAHEREE)
10:25 62 50.0 10.8 [ =] 1BRi%@10:25 Bz (kAEREE)
10:55 62 50.0 10.8 [ =| 1Ri%@10:55 Bzh (RAERE)
11:25 62 50.0 10.8 |2 =] Bige11:25 Bzh (kAHEREE)
11:55 62 50.0 10.8 [ =| 1BRige11:55 Bzh (REERESE)
12:25 62 50.0 10.8 [ =| 1Bige12:25 Bh (RAEREE)
12:55 62 50.0 10.8 (& =| 1BRige12:55 Bz (REEREE)
13:25 62 50.0 10.8 F BRige13:25 Bz CGRAERSE)
13:55 62 50. 0 10. 8 = {RRiB013:55 B (REAKEE)
14:25 62 50. 0 10.8 E| {Rige14:25 Bzh (RE{ERSE)
14:55 62 50.0 10.8 F BRige14:55 Bz CGRAERESE)
15:25 62 50.0 10. 8 = RRiBe15:25 B (REAKGEE)
15:55 62 50. 0 10.8 E| {Rig@15:55 Bah (RE{ERSE)
16:25 62 50.0 10.8 (=] 1Rig@16:25 Bzh (KRAHERESE)
16:55 62 50.0 10.8 |2 =] 1BRi%@16:55 B (KAEREE)
17:25 62 50.0 10. 8 FA| 1BRi%@17:25 Bzh (RAERESE)
21t 1364.0 (22)%) 1100.0 3203 KEC: 2100.0, PH: 6.5

EORGERIREL RN (0.57 vs 0.63), AIREE S AEESEEEESKERE
EORGEB BT R IRFE AR (92 vs 77.0))

ZRIASERRIERE60. 0 ml.

FEREBIPH (10.24) 5iZEPH (6.5) REK K, BT

BEXRERIPH (10.24) 5FMPH (6.5) REK K, HRE

BE X i# B R ECEL B Hh k.

HEEIRECE (2113.0 vs 3595.0) 15

RER BT HEREC/PHIE B K, AT RERNIHRELR SR

LRGEBIPH (10.4) 518 EE (6.5 REK K, FRE.

LORGEBIPH (10.4) S5#AEN (6.5) RERK, BRE.



2908 1

2100 = e e e e e

2000 ’—)(—)(—)(—)(—)(—)(—)(—)(—)(—)(—)(—)(—)(

1900 1 >  ECB*10% ® 9o o

1800
[ ]
104 TargetPH=6.5, TargetSetPH=6.5

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

FRV (ml plant-1)

G3-3_0, Day=17 (2025-05-29)
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20 A

[=2]
o o
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—_
o

N
o
1
|P—

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

0.6

0.4+

0.2~

Warning: lcol ["WC1',  "WC2'] missing

150 A

100 A

TargetEC=1800. 0, | TargetSetEC=2100. 0

[ ECC

([ PHC

<
lg
m
=

® © O o 0 0 o 0 o0 o0 0 © —%—  PHB*10% {

735 ggkb
465 443, L 500
0 I_I Warning: lcol [FVI',| "FVO’'] missing 4
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T
a1
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0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
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150

100 A i

50
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0.4+

0.2~

1
ByWoFVv @D20 01:35: ET=1142 Fg=1100. 0 Ro=45.

T
a1
o
(=}

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

1500 —

1000 4 —@— PPFD_obs

500 -

[ ] | _obs

RH
RH_obs
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T
—_
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o
o
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M_E

1
Bylnik @D20 01:35: ET=622 Fg=720.0 Ro=110.0 #1500

- 1000

- 1500

- 1000

- 1500

- 1000

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



48

46 -

44 -

42 4

40 -

38 -

——

T T
600 800

m=545,m FV0=0

45

44 -

43 -

42 4

41 ~

40 -

——

T T
550 555

m=730,m FV0=0
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45 ~

44

43

42 -

41 4

40 -

——

730

735 740

m=905,m FV0=0

46 -

45 -

44

43 -

42 -

41 A

——

905

910 915

m=395, FV0=0

46

44 -

42 -

40 ~

38 -

T T
400 405

m=590,m FV0=0

46

44 -

42 -

40 ~

T T
595 600

m=785,m FV0=0

45 ~

44 -

43 A

42 ~

41

40 -

785

790 795

m=945,m FV0=0

46

45 -

44 -

43 A

42

945

950 955

m=430, FV0=0

46 -

44

42

40 -

T T
435 440

m=635,m FV0=0

46

44 -

42 4

40 -

T T
640 645

m=830,m FV0=0

45 ~

44
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41

40 -

39 A

835 840

m=995,m FV0=0

48 A

47 -

46 -

45 -

44 4

43 -

1000 1005

m=490, FV0=0

46 -

44

42 4

40 -

495 500
m=680,n FV0=0

45 -
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42 -
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41
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20 -
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600 800




m=395, FV0=0

25

24 -

23 A

22 -

21 -

—— MW

395 460 465
m=590,n FV0=0
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28 -

27 A

26

25 H

24 -

—— MW

590 565 660
m=785,n FV0=0

30

28

26 -

24

—o— MW

7

785 760 755
m=945,n FV0=0

30 -

29
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27 A

26
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—— MW
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m=830,n FV0=0
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—— MW

830 855 8&0
m=995,n FV0=0
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T T
685 690

m=865,m FV0=0

30

29 A

28

27 A
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25 A

24

—o— MW

865

870 875

m=545, FV0=0

28 -

27 A

26

25 A

24

—— MW

545

5é0 5%5
m=730,n FV0=0

30 A

29 A

28 A

27 -

26 -

25 -
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—o— MW

730
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m=905,n FV0=0
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29 A

28 -

27 A

26 -
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BflE] | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

e33 06:05 63 40.0 8.64 | H5| f{Ri%e06:05 Az CRAfEREEE
06:35 63 40.0 8. 64 = {RRiB006:35 B (RAKEE)
07:05 63 40.0 8. 64 = {RRiB@07:05 Bz (RFAEEE)
07:35 63 40.0 8. 64 5| {Ri%e07:35 Bz (FRAERSE)
08:05 63 40.0 8. 64 | {Rig@08:05 Bah (RE{EREE)
08:35 63 40.0 8. 64 E  1BRi&e08:35 Bzl (RAEREE)
09:05 63 40.0 8. 64 = {RRi8009:05 B (RAKEE)
09:35 63 40.0 8. 64 5| 1Ri&e09:35 Bz (REAERS)
10:05 63 40.0 8. 64 F BRi%e10:05 Bz (GRAERSE)
10:35 63 40.0 8. 64 5| {Ri%@10:35 B3 (RAERSE)
11:05 63 40.0 8. 64 E BRige11:05 Bz (GRAERESE)
11:35 63 40.0 8. 64 = RRiB011:35 Bz (REAEEE)
12:05 63 40.0 8. 64 =l RRiB012:05 B3 (REAKEE)
12:35 63 40.0 8. 64 =l {Rige12:35 B3 (RAERSE)
13:05 63 40.0 8. 64 5| {Ri%e13:05 B3 (GRAERSE)
13:35 63 40.0 8. 64 El BRi&e13:35 Bz CGRAEREE)
14:05 63 40.0 8. 64 E BRige14:05 Bz (GRAERESE)
14:35 63 40.0 8. 64 = RRiB014:35 Bz (REAKEE)
15:05 63 40.0 8. 64 = RRiB@15:05 B (RFAEESE)
15:35 63 40.0 8. 64 5| 1RiRe15:35 B3 (REAEES)
16:05 63 40.0 8. 64 5| {Ri%e16:05 B3 (FRAERSE)
16:35 63 40.0 8. 64 5| 1Rike16:35 B (REAERES)
17:05 63 40.0 8. 64 =l RRiB017:05 B3 (REAKEE)
17:35 63 40.0 8. 64 = RRiB017:35 B3 (REAKEE)
18:05 63 40.0 8. 64 5| 1Rike18:05 Bz (KREEESE)
18:35 63 40.0 8. 64 5| {Ri%e18:35 Bz (FRAMERSE)
E2it]1638.0 (26%) 1040.0 3203 KEC: 2100.0, PH: 6.5

FERSEERIPH (10.32) 5igEPH (6.5) REKK, FHRE
FEREBIPH (10.32) 5FJPH (6.5) MERKK, FRE

REX 1 [B] RECEIIE TR K.

#[EKECE (2052.0 vs 3410.0) 35
RERE L HEREC/PHIE R K, FIRESZNIIREL R K
LORGEBIPH (10.2) 5i&EE (6.5) WERK, BRE.
LEORGERIPH (10.2) S5#RBE (6.5) REK K, HHEE.




G3-3_0, Day=16 (2025-05-28)
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